Judge Pamela T. Greenwood of the Court of Appeals for the State of Utah
serves All Counties.

Certified by the Utah Judicial Council for retention in the 2008 General Election.

Judge Pamela T. Greenwood was appointed to the Utah Court of Appeals by
Gov. Norman H. Bangerter in January 1987. She received a law degree in 1972
from the University of Utah College of Law. Judge Greenwood served as
general counsel and vice president of First Interstate Bank of Utah for seven
years. She was counsel for the Utah State Bar from 1977 to 1980 and an
attorney with the law firm of Roe and Fowler from 1976 to 1977. Judge
Greenwood is a past president of the Utah State Bar, was a member of the Gender and Justice Task
Force, and served as vice chair of the Utah Judicial Council from 1992 to 1998. She was acting State
Court administrator from January 1995 to September 1995. Judge Greenwood was honored as the Utah
Woman Lawyer of the Year in 1993 and received a Special Service Award from the Utah State Bar in
1996. She chaired the Privacy and Public Court Records Committee and is a member of the Court
Improvement Project. Judge Greenwood currently serves as presiding judge of the Court of Appeals.

Judge Greenwood’s compliance with performance standards is as follows:

1. A favorable rating by at least 70% of the respondents on at least 75% of the attorney survey
guestions. See specific results below.

2. Had fewer than the maximum allowable cases held under advisement.

3. Had one year with fewer than 30 hours of continuing judicial education, but showed good cause for not
meeting the standard.

4. Mentally and physically fit for office.

5. In substantial compliance with the Code of Judicial Conduct.

Survey of Attorneys There were 89 respondents for Judge Greenwood.
Question 1123|456 |7][8]9]1
Total Favorable % | 100{ 99| 100| 98| 94| 96| 97|100[ 95 98
Excellent % | 65| 62| 69| 42| 39| 38| 43| 60| 39 42
More than Adequate | % | 20| 23| 16/ 34| 32| 30| 30| 24| 31| 32
Adequate % | 15| 15| 15| 22| 24| 27| 24| 17| 25| 25
Less than Adequate | % 0O 1] 0 2 5 2/ 20 0O 1 o0
Inadequate % 0O 0 0 O 1 2 1 0o 3 2




